*mimx#A+ﬁ#$ﬁm£ﬁ@+&A#%ﬁ

ﬁffiljmlig;hqu-('rm |*fﬁ-f'rﬂ: i d i i
. Evalegls the Fllowing limirs. [20%2)
. L : ¥ PEE P
e lim (yettr- o) b lim &2 7
X %o X onpft -1
fe) lim pu_ sy e Wy lm i
r— ' I =
2. Find the derivative of the tellowing fanetions,
e
a) fixjin |- 5%
@) Rk 'I'I-TTII (%)
() wtximexni 3x ) log, 5° {1024}
3 Buvalugfe the [nllowing definite intéprals, a0eg)
{a} f{]n )y k) fjxjﬁlﬁ-;dx
1 Letthe dcman::] Byuation be given by pix)= , 00 wikes p s the price per unit,
Find x where revenye iz TdxingLo.. (1044
: ; a1+ 42 i )
5. Ageneral population made] 12 21— o where 1, is the initig] Population,
s e
i, gl y aoed o and b are PRomitive congdants, Agsunge i< ;i.
{&) Slowr thay pi1) is Blvwenyrs mcrcasing for £, (5%}
e
() Sliosw it the infleciing Point has ¢conrdinare |'§f— , [I0g)
Fy
B Suppose a Tesuuree, such as vil or pas has fotal FESerV e eqoal i 4. Buppase the

7

rSouTee 1E being exiracted pt o THLE given Ly diPm =ga ""’, Wliere o ung K ape
s

psitive consteme and ¢ i pinge, Show that it this rae fle reagemee will ba
i

el ——
i

exhausted in e =— __

- {140%%)

- Suppse & firm es twa meoducts X and ¥ thay Lompete with cacli other. Lot the

unil price for X amd Y bz, resectively, poand g oand e demand equetions
Teipectively e i=d — x4 L e Sy where ¢ and » ame e nugiher

of ilens of X ang ¥ vesneelively, prodeced gyl ol Find where gie TEvEDLG
allaing an absolile maxinum for xzg anid ¥z, [10%)

(% — &)



L E 3

#a%mk%m+k%#imfmkﬁiﬁ

¥ LM R A (Lmd |#ﬁ.ﬁﬂ: # O %

VAR TRE| o - Fir, - Fr= -Rne

CEMOEERBEERL A ARG AENES - BREABEAFHBE 2

FHHAE RS - BR M E RN e WA -
O(10%) 2 8 10 s skge o W pla b 7

G IMORB LR AR T B E T T
O(SVMIEARI A 15 2 IR Fr4Re)imE BT 7

YR X - B Al R ERod Bt e A - A

A B S F

B, =g, 4, =i, § = Men

WR LT FliRuEH L ML RS M-

CI0MHEMRTHEN R ERESARALRE - BR-HAEHRH - £

RO H WAL E — T - REMMRR IO A BE EAED
BH R FHRB AT IR T ST RER - SRAATFH U B |

n=3 X =5F=a3 . F) 1000, ¥ox - K =1
r r

Q0% Y = he R
AP Fe - 005 MR EERAEFLIT
BNPGHH F R R A &
DL = 0.0 HAGREPL S 07 i RHAE RO B - 357
HEs?
| by = 2.042) Fpyy 0= 4 ”1

(% -8 - % —-R)




